EMR OIS EDRMEC EOEE (B34 4 H 1 B5iFE)

77 ATHURHERIER

B — =~ R T LR
o | RIS 1 % e T % | &5
=TT i 5
1R 94 23.6 =T >
T Y 77 206| s1.8| mEB
2% [2 FREFEOHE 12| 28.1/EEFE J
(PSR EHE) FIEME 78
3 | L EHOME a6| 116/ EH A 46| 116] zem
wEE 5
AT E 30
a45% | 2 EEORETE 39 9.8|F& 2 39 9.8| ZREK
wEEw /
T REREOHE RERE 51
> ENEEORS SIEE 3
3 EEZESEBREREOR SEE 3 _
5#%k A SEE RS 57 14.3 57 14 .3 | B Rk
5 FREREORE
6 BEEORE
T REOHE RE 3
> BEORE e o1
S EEEEAFEREONE EE
1 EEORE TE 25
R RO R P I 98 e
e EEORE (ANEEER
<.)
EE T
T HEOHE TE 8
> FEAEEORE FEAZE T
7% [3 STEEEORE 11| 2.s[zrEmE 1 11| 2.8 mEsm
T AEFEREOHE FAFERE T
S SRR
= st 398| 100.0

X RPDEE (%) (F FREAKEBZMERALTWSTZSH. G5TH100%(CIR5RWNEENSHDET,




1 BREMRAlERIER

Fers
DR

HE LD\ EHE

=111}

MAER

Hak I _E ODEs P

%

L2

1#R

1 EBFEIIRFORTS

[0 —FEIXEERE (MDEEEL |
< (HMEEER (IHEERDEERE U
(HRECEFI 2WEZL)
S, UTFEL, ) OFS

3 SREEDORBBERZ1T Dl
S DRFS

4 BENEEILFORTS

5 B8R, HBFREFORSE

50.0

8)

A

%

P

FEE (BEA
KRS EIEN TR

8)

EZ NG
ESLS S EDERY

4 50.0

RER

21k

1 HBEDOREEX (IR e EE
9 D EIAERIMF OIFS

2 HEDKEEX (IR T E &
9 D —RxIREEHN S DTS

3 HEDKEEX (IR T E &
ERGER S0

4 HIEDHAEX (B ZnEE
ERSIEEESELIE D)2

5 FCHEIEB 2T ORBE
FDRFS

RER

3k

1 BREIRFZEREEEET
DHHE DI

2 —RRREEIR B Z B IEEEE
9 DS DREFS

3 XERB ZERIEEEET D
Hik B DRSS

4 BREELF T EREEEE
9 DS DREFS

5 BEDOKEX (IERZNEE
ERSIEEIESELIEE D)2

50.0

e

SRS

4 50.0

R

& &t

100.0




